


Elasticity of Demand

e A measure of how consumers react to a
change in price

e This talks about how buyers will cut back or
increase their demand for a good when the
price rises or falls.




Inelastic

* Describes demand that is not very sensitive to
a-change in price

e Gas can be considered inelastic because no
matter the price, people will have to keep
" buying it.

GASOLINE




Elastic

* Describes demand that is very sensitive to a
change in price.

e Soda can be considered elastic. If the price




Unitary Elastic

* Describes demand whose elasticity is exactly
equal to 1

* |f the elasticity of demand for a good is less
than 1, we describe it as inelastic. If the
elasticity is greater than 1, demand is elastic.
If elasticity is exactly equal to 1, we describe
demand as unitary elastic.
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How do you calculate the elasticity of
demand?

* To find the elasticity of demand, take the
percentage changein demand of a good and divide

this number by the percentage change in the price
of the good.

Percentage change in quantity demanded

EIaSt|C|ty = Percentage change in price

Percentage Change: Original number — New number X 100

Original number




How do you calculate the elasticity of
demand?

* The law of demand implies that the result will
always be negative. This is because an
increase in the price of a.good will:always
decrease the quantity demanded. A decrease

in the price of a good will always increase the
guantity demanded.

* For the sake of simplicity, economists drop the
negative sign.



What are the factors that affect
elasticity?

Well.. What is important to you?

lasticity of demand for a s
— Availability of substitution$— soda
— Relative importance — shopping hab

— toilet pap

Change over time

y



Why is demand for home heating fuel
inelastic in cold weather?

* Because you got to stay WARM!

e Although this is why Mr. Northrup is rich!"He keeps his
house temperature at 60 degrees!!!!



How do we calculate total revenue?

e Quantity sold x price of good




When the price of a car wash rises
from $10 to $S11, the number of daily
customers falls from 60 to 48.

60-48 12 10-11 L
= X100= 20 = X100= 10
60 60 10 10

P Y 2 >1 so demand is elastic



A hairstylist with 40 clients cuts her fee
for a styling from S$75 to $60 and
attracts 5 new clients.

40-45 =) 75-60 15
= X100= 12.5 = X100= 20
40 40 75 75

12.5
20

- 625 .625 <1 so demand is inelastic



